@ ﬁ'\lhgﬁii—‘;wgszmJﬂ—#’F e
%= &
M A A

B =xsinT o x#0 £ {0) =0 A ()2 R L) bx=0 AT

B o (10 4)

CRHFRETZRA S PERE T ORGT S B AMfel Mg B R
! 4f 91(Compounded monthly) =& 1 5 2 & 5 4§ §1(Compounded
continuously) =& ] 5 - (10 4 )

¥ al=v2 2 antl=+2+an 'n=123...» FEP B 5] {a, | EF Jcar 4

S 11—&%’( FHdzagciE o (10 »)

LRI RAZAABA AR EFEL LA A X yll}“r%%\ﬂ\ C(x,
y)—6x +12y° > REFTARBZ RE 90 Bind | £ A o (10 4)

. K f(x,y,z)=1/3X3+2y2+22—2xy+3xz+yz—4x+4y—62+1 B U

Been ki 3% B~ Zh(Point of local maximum) ~ % % & |- BL(Point of local

minimum) £ ¥ 2k(Saddle point) - (10 4")

BREF - ERpx B FHE 5 [(x)=10+36x-3x" >

0=x=12> R} F &EF- FTHTHFHEE (10 4)

" +2"+...+n"

o (10 )

0 x
1
b) #[— gy -
®) Ix2—3x+2x

(c) Lj—dxo

(d) ]‘\]E ezdx—l’ ]‘\I—e_xdxf’

1
N2

(e) Flxi<l + £ Y nx" o
n=1



ey -
() H2-0)



